
 

 

 
SCRA Full Length Test Paper IV 

 
General Knowledge 

1. Which of the following policies has not been in produced by Oriental Insurance for the benefit of 
               the farmers? 

(a) Rice Insurance Policy (b) Krishak Kalyan Bima 
(c) Khalihan Bima Policy (d) Agricultural Tractor Policy 

 
2. When did personal social security scheme was introduced to help poor families whose annual 
               income was Rs. 7200 or less? 

(a) 1980 (b) 1985 
(c) 1990 (d) 1995 

 
3. Which of the following is a Term Assurance Policy? 

(a) Bima Sandesh Plan 94 of LIC 
(b) Life guard of ICICI Prudential 
(c) Term Care Plan of Bajaj Allianz 
(d) None of these 

 
4. Which of the following is not true about New Jana Raksha Policy? 

(a) The policy will be issued to male lives only 
(b) Policy will be issued with maximum age at entry of 40 years 
(c) Policies will be issued for 12, 15 and 40 years only 
(d) The maximum sum assured is Rs. 5000 

 
5. Which of the following is not true about Jeevan Akshay Policy? 

(a) No medical examination is necessary to get this policy  
(b) Post-dated monthly cheques are sent in advance for the whole year 
(c) No person is paid 
(d) The minimum amount to be invested is Rs. 10,000 

 
6. Which of the following LIC policies is not correctly matched? 

(a) Griha Laxmi Policy - December, 1975 
(b) Jana Raksha Policy - June, 1981 
(c) LIC Mutual Fund - June, 1987 
(d) Dhan 80 CCB(1) - February, 1991 

 
7. The proposal form is to be signed by the 

(a) The proposer and the life to be assured 
(b) The proposer and witness by the third party 
(c) The proposer and the agent 
(d) 1 and 3 

 
8. In marine insurance loss due to roles and vermin is 

(a) A statutory exclusion (b) Floating policy 
(c) Consequential loss  (d) None of these 

 
9. The large amounts in the life insurance company come by way of 

(a) Interest on loans (b) Premium and return on investment 
(c) Lapsed policy (d) None of these 

 
10. The rural insurance scheme is regulated by the  

(a) IRDA (b) Government of India  
(c) Insurance Act of 1938 (d) None of these 



 

 

 
11. Under contributory scheme of the group insurance the minimum participation of employee must 

be 
(a) 25% (b) 50% 
(c) 75% (d) 100% 

 
12. Infirmities is related to 

(a) Old age (b) Sickness 
(c) Loss of limbs (d) All of the above 

 
13. By producing which document the duplicate policies are issued? 

(a) Indemnity bond (b) Guarantees 
(c) Medical report (d) None of these 

 
14. Policy acquires surrender value if runs for a period of 

(a) 2 years (b) 3 years 
(c) 4 years (d) 5 years 

 
15. Which of the following is not correct? 

(a) In life insurance contract, disability benefit can not be issued as a separate policy 
(b) The policy holders has an option to choose the mode of payment of premium 
(c) Revival of an insurance policy is a fresh contract 
(d) Settlement option is related to both maturity and death proposal  

 
16. How does nomination gets automatically cancelled? 

(a) Assignment (b) Consideration 
(c) As per Trust Act (d) Forfeiture 

 
17. Which of the following statements is not correct? 

(a) An insurance policy is a contract in itself as per Insurance Act, 1938 
(b) Any dispute regarding insurance is referred to the Ombudsman 
(c) Annuity plan provides guaranteed pension to the a annuitant 
(d) Financial underwriting is done to evaluate capacity of paying premium 

 
18.  Allan Grace is the first woman Chief Justice of which country ? 
 a)  Brazil    b)  Denmark 
  c)  Sweden     d)  Canada     

e)  None of these 
 
19  How many internet users are there in India ? 
 a) 14.82 mn.    b)  19.63 mn. 
 c)  21.52 mn.    d)  18.37 mn.     

e)  16.173 mn 
 
20 Who has been crowned Mrs. World 2006 ?  
 a)  Sofia Arzhakovskaya  b)  Amruta Patki 
  c)  Mona Singh    d)  Brookelyn Shirley     

e)  None of these 
 
21 Which of the following parties is recently launched by Uma Bharti ? 
 a)  Bharatiya Janta Party-U  b)  Mahila Janashakti Party 
 c)  Bharatiya Janashakti Party  d)  Rashtriya Kranti Dal   

e)  None of these 
  
22  Which country won its fifth consecutive title of Uber Badminton Championship ? 
 a)  Switzerland   b) China 



 

 

 c)  Denmark   d)  Japan     
e)  None of these 

  
23  Upto which year will the South Asian Economic Union be set up ? 
 a)  2020    b)  2018 
 c)  2025    d)  2015     

e)  None of these 
 
24 Which Indian has been appointed into the organization of News Ombudsmen ?  
 a)  Vineet Jain   b)  K. Narayanan  
 c)  Shobha Bhartia   d)  Prabhu Chawla   

e)  None of these 
 
25  Who has been elected the Chief Minister of West Bengal ?  
 a)  Buddadev Bhattacharya  b)  M. Karunanidhi    
 c)  Somnath Chatterjee  d)  Ranadeb Bose     

e)  None of these  
 
26  The Central Electricity Regulatory Commission has imposed a penalty of Rs.1 lakh on which 

state’s Power Corporation Limited for overdrawing electricity ? 
 a)  Uttar Pradesh   b)  Bihar    
 c)  West Bengal   d)  Orissa    

e)  None of these  
 
27  Who has been named Player of the year by English Premiership League ? 
 a)  Thierry Henry   b)  Luis Figo    
 c)  Ronaldinho   d)  Kim Park Sun     

e)  None of these  
 
28  Who has written the book. ‘The Undercover Economist’? 
 a)  A. G. Noorani   b)  Dick Cheny    
 c)  Tim Harford   d)  Vikram Chandra   

e)  None of these  
 
29  Who is the Chief Minister of Kerala ? 
 a)  Kodiyeri Balakrishnan  b)  V. S. Achuthanandan     
 c)  A. K. Balan   d)  Pinarayi Vijayan   

e)  None of these  
  
30 At which place was 5th All India State Election Commissioners conference held ? 
 a)  New Delhi   b)  Ahmedabad    
 c)  Jaipur    d)  Srinagar    

e)  None of these  
 
31  Who has been awarded the first Kaifi Award ? 
 a)  Gulzar    b)  Javed Akhtar    
 c)  shahid Mahuli   d)  S.R. Kidwai    

e)  None of these  
 
32  Who has been appointed the chairman of Council of Indian Employers ? 
 a)  C. P. Jain   b)  Sarthak Behuriya    
 c)  Anil Ambani   d)  Rahul Bajaj    

e)  Subir Raha  
 
33  Which of the following airlines has introduced a ‘companion fare’ scheme ? 
 a)  Jet Airways   b)  Deccan Airways    



 

 

 c)  Kingfisher Airlines  d)  Go Airways     
e)  Indian 

 
34  Who has been named the chairman of the Organising committee of the ICC Champions Trophy 

2006 ? 
 a)  Sunil Gavaskar   b)  Sharad Pawar    
 c)  Kapil Dev   d)  I. S. Bindra    

e)  None of these  
 
35  Which of the following is/are not included in the Time Magazine’s 100 most influential people 

list? 
 a)  Hugo Chavej   b)  Vikram Akula    

c)  Bill Clinton   d)  Laxmi Niwas Mittal  
e)  Mohmoud Ahmadinejad  f)  Nandan Nilekani 

 1) A, C and D   2) All are included    
3) B, D and E   4) Only A    
5) Only D 

 
36  Name the Director-General of WHO (World Health Organisation), who passed away recently ? 
 a)  Li Suk Hun   b)  Lee Jong Wook    
 c)  George pascal   d)  Robert Frisk    

e)  None of these  
  
37  Who has been appointed the Prime Minister of Nepal ? 

a)  Girija Prasad Koirala  b)  Gopal ManShrestha    
 c)  K. P. Sharma Oli   d)  Krishna Prasad Situala   

e)  None of these   
 
38  With which sports is Azlan Shah Tournament related ? 
 a)  Table Tennis   b)  Bridge    
 c)  Hockey     d)  Squash    

e)  None of these  
 
39   Which of the following airlines has got the International Air Transport Association’s operational 

safety audit certificate ? 
 a)  Indian    b)  Jet Airways    
 c)  Air India   d)  Kingfisher Airlines   

e)  None of these  
 
40  Who has been chosen laureus World Sportsman of the year ? 
 a)  Ricky Ponting   b)  Lance Armstrong     
 c)  Roger Federer   d)  Michael Suchumacher   

e)  None of these   
 
41  Which country has blocked the entry of UN Peacekeeping Force in its territory ? 
 a)  Iran    b)  Thailand    
 c)  Sudan    d)  Iraq     

e)  North Korea 
 
42  At which place will Miss Earth 2006 beauty pageant be held ? 
 a)  Manila    b)  Dublin    
 c)   Santiago    d)  Durban    

e)  None of these  
 
43  Which of the following foreign clubs/ provinces will play in this year’s Duleep Trophy Cricket 

Tournament ? 



 

 

 a)  Middlesex (England)  b)  Kzazulu Natal (South Africa)  
 c)  Victoria (Australia)  d)  Surrey (England)   

e)  None of these  
 
44  In which country will the Mahatma Gandhi Centre of Indian Studies be opened ? 
 a)  Russia    b)  Mauritius    
 c)  Germany   d)  Ujbekistan    

e)  None of these  
  
45  Which Country has decided to ban the use of term “Dollar” and “Euro” in the domestic economic 

matters ? 
 a)  France    b)  China     
 c)  Russia     d)  Germany    

e)  Belgium  
English Language 
Questions 46-49 refer to the following passage: 
 
It has long been known that when exposed to light under suitable conditions of temperature and moisture, 
the green parts of plants use carbon dioxide from the atmosphere and release oxygen to it. These exchanges 
are the opposite of those which occur in respiration. The process is called photosynthesis. In 
photosynthesis, carbohydrates are synthesized from carbon dioxide and water by the chloroplasts of plant 
cells in the presence of light. Oxygen is the product of the reaction. For each molecule of carbon dioxide 
used, one molecule of oxygen is released. A summary chemical equation for photosynthesis is: 
 

6CO2 + 6H2O  C6 H12 O6 + 6O2  
46. The combination of carbon dioxide and water to form sugar results in an excess of 
 a)  water    b) carbon 
  c)  oxygen    d)  chlorophyll  
 
47. A process that is the opposite of photosynthesis is  
 a)  decomposition   b) diffusion 
  c)  synthesization   d)  respiration 
 
 
48. In photosynthesis, water 
 a)  must be present   b) is stored as chemical energy 
  c)  is produced in carbohydrates d)  interrupts the chemical reaction 
 
49. The title below that best expresses the ideas in this passage is 
 a)  A Chemical Equation  b) The Parts of Vascular Plants 
  c)  The Process of Photosynthesis d)  The production of sugar 
 
Questions 50 – 52 refer to the following sentence: 
 
The Nobel Prizes, awarded annually for distinguished work in chemistry, physics, physiology or medicine, 
literature, and international peace, were made available by a fund bequeathed for that purpose by Swedish 
Philathropist, Alfred Bernhard Nobel. 
 
50. The Noble Prizes are awarded  
 a)  five times a year   b) twice a year 
  c)  once a year   d)  once every two years 
 
51. A Nobel Prize would NOT be given to 
 a)  an author who wrote a  novel b) a doctor who discovered a vaccine 
  c)  a composer who wrote a symphony  

d)  a diplomat who negotiated a peace settlement 



 

 

 
52. Alfred Bernhard Nobel 
 a)  left money in his will to eatablish a fund for the prizes   
 b) won the first Nobel Prize for his work in philanthropy 
  c)  is now living a Sweden 
 d)  serves as chairman of the committee to choose the recipients of the prizes 
 
Precipitation, commonly referred to as rainfall, in a measure of the quantity of water in the form of either 
rain, hail, or snow which reaches the ground. The average annual precipitation over the whole of the United 
States is thirty-six inches. It should be understood however, that a foot of snow is not equal to a foot of 
precipitation. A general formula for computing the precipitation of snowfall is that thirty-eight inches of 
snow is equal to one inch of precipitation. In New York State, for example, seventy-six inches of snow in 
one year would be recorded as only two inches of precipitation. Forty inches of rain would be recorded as 
forty inches of precipitation. The total annual precipitation would be recorded as forty-two inches.  
 
53. The term precipitation includes 
 a)  only rainfall   b)   rain, hail, and snow 
 c) rain, snow, and humidity   d)  rain, hail, and humidity 
 
54. What is the average annual rainfall in inches in the United States ? 
 a)  Thirty-six   b)   Thirty-eight inches  
 c) Forty inches   d)  Forty-two inches 
 
55. In a state has 152 inches of snow in a year, by how much does this increase the annual 
              precipitation? 
 a)  By two feet   b)   By four inches  
 c) By four feet   d)  By 152 inches 
 
56. Another word which is often used in place of precipitation is  
 a)  humidity   b)   rainfall  
 c) wetness    d)  rain-snow 
 
 
Directions (57-60): Pick up the correct synonyms for each of the following words. 
 
57. EFFACE 

(a) Wipe out (b) Weaken 
(c) Insult (d) Repair 

 
58. BLITHE 

(a) Graceful (b) Joyous 
(c) Giddy (d) Other worldly 

 
59. ERRAND 

(a) Foolishness (b) Mission 
(c) Misadventure (d) Error 

 
60. RIBALD 

(a) Vulgar (b) Attractive 
(c) Refined (d) Indifferent 

 
Directions (61-64): In each of the following questions, choose the word OPPOSITE in meaning to the 
given word. 
 
61. JUDICIOUS 

(a) Unequal (b) Unlawful 



 

 

(c) Impure (d) Indiscreet 
 
62. JUXTAPOSITION 

(a) Difference (b) Opposition 
(c) Separation (d) Appropriateness 

 
63. PAUCITY 

(a) Surplus (b) Scarcity 
(c) Presence (d) Richness 

 
64. LEND 

(a) Beg (b) Borrow 
(c) Snatch (d) Request 

 
Directions (65-72): In each of the following questions, choose the word which can be substituted for the 
given phrase/sentence. 
 
65. Using of new words. 

(a) Coinage (b) Vocabulary 
(c) Neologism (d) Malapropism 

 
66. Careful in Performing duties 

(a) Punctual (b) Punctilious 
(c) Sincere (d) Pugnacious 

 
67. A thing liable to be easily broken 

(a) Breakable (b) Ductile 
(c) Brittle (d) Delicate 

68. The worship of idols or images 
(a) Atheism (b) Theism 
(c) Idolatry (d) Iconoclasm 

 
69. Something that is poisonous or unhealthy 

(a) Trivial (b) Toxic 
(c) Torpid (d) Tragic 

 
70. A remedy for all diseases 

(a) Amnesia (b) Panacea 
(c) Intelligentsia (d) Parasol 

 
71. A hater of mankind 

(a) Misanthrope (b) Misogynist 
(c) Philanthropist (d) Misogamist 

 
72. Irresistible craving for alcoholic drinks: 

(a) Megalomania (b) Dipsomania 
(c) Kleptomania (d) Pyromania 

Directions (73-75): Fill in the blanks in the following sentence by selecting the most appropriate 
alternative from amongst the four choices given under each sentence. 
 
73. The bill in the Parliament was ________ by fifty five people. 

(a) accepted (b) voted 
(c) carried (d) opposed 

 
74. His death is a great blow, most terrible to ________. 

(a) bear (b) imagine 



 

 

(c) accept (d) sustain 
 
75. The little girl ________ for the light switch in the dark. 

(a) groped (b) grappled 
(c) gripped (d) grovelled 

 
Directions (76-85): In each of the following questions, find out which part of the sentence has an error. If 
there is no mistake, the answer is ‘No error’. 
 
76. If I was you (1)/ I would not have (2)/ committed this blunder. (3)/ No error (4) 
 
77. You will get (1)/ all the information (2)/ if your read this booklet carefully. (3)/ 
             No error (4) 
 
78. He is writing novels (1)/ ever since (2)/ he became a graduate. (3)/ No error (4) 
 
79. When the police started (1) to follow his speeding car (2) he brake the signal (3) and drove away.    
              (4) No error. (5) 
 
80. We have not only helped them (1) with money but also (2) with the support of (3) well trained and 
 experienced workers. (4) No error. (5) 
 
81. What people think (1) about religious matters(2) assumes importance (3) for a great extent.(4) No 
 error. (5) 
 
82. No sooner did (1) the ship touched the shore(2) than a friend of miner(3) leaped into the water.(4) 
 No error.(5) 
83. You can imaging how(1) annoyed I was(2) when I learnt that(3) the match has been postponed.(4) 
 No error.(5) 
84. What you(1) said is(2) impertinenting to(3) the occasion.(4) No error.(5) 
85. When he hears that news,(1) he was almost(2) in tears and(3) could not utter a word.(4) No 
 error.(5) 
 
Directions : In (Qs 86-90) the first and the last sentences of the passage are numbered 1 to 6. The rest of 
the passage is split into four parts and named P, Q, R and S. These four parts are not given in their proper 
order. Read the sentence and find out which of the four combinations is correct. Then find the correct 
answer and indicate it in the Answer-sheet. 
 
86. (1) Fighting a fire demands a lot of strength and endurance. 

(P) The breathing unit may weigh as much as 25 kilograms. 
(Q) The protective clothing the firefighter wears will weigh about 10 kilograms. 
(R) The fire-fighter will normally wear an oxygen mask and carry an oxygen tank. 
(S) Apart from these, he will have to carry the house and other tools. 
(6) The weight of the hose and other tools, the fire-fighter carries, will be around 50 kilograms. 
 
(a) QPSR (b) QRPS 
(c) QSPR (d) SPRQ 

 
87. (1)  We were taking tea at the Rathna Tea Stall. 

(P) We found a tourist bus which had just rammed into a tamarind tree on the roadside. 
(Q) We rushed out of the tea stall. 
(R) We helped the passengers to get out of the bus. 
(S) Suddenly we heard a loud noise followed by a cry for help.  
(6) We informed the hospital and also the police about the accident. 
 
(a) SQPR (b) QSRP 



 

 

(c) PRSQ (d) RSQP 
 
88. (1)  Democracy is the primary goal of our Indian Constitution. 

(P) If representatives do not rule according to the wishes of the people, they are changed in the 
next election. 

(Q) In a democracy, the people are the rulers. 
(R) New representatives who are aware of the needs of the people take their place. 
(S) They rule through their elected representatives. 
(6) Thus in a democracy, the responsibilities of the people are great. 
 
(a) SQPR (b) QPSR 
(c) QSPR (d) QSRP 

 
89. (1)   Satellites have been launched into space for various purposes. 

(P) The other satellites we have launched are the Bhaskara, Apple and Insat-1A, 1B, 1C. 
(Q) We have launched our first satellite Aryabhatta on 19th April, 1975. 
(R) Our latest achievement is the launching of PSLV rocket. 
(S) Therefore in satellite technology, we are able to compete with other developed countries. 
(6) Only a few other countries have developed satellite technology. 
 
(a) QPRS (b) QRPS 
(c) SQPR (d) SQRP 

 
90. (1)  National Integrity means National Unity for all. 

(P) They are the evils of Communalism and Regionalism. 
(Q) Our Government is taking steps to remove such tendencies. 
(R) But there are some evil tendencies in our society to hamper our unity. 
(S) The feeling of Indainness should be achieved to preserve our unity. 
(6) And this is what every Indian should aim at. 
(a) SRQP (b) QPRS 
(c) QRPS (d) QSPR 
 

Directions: In (Qs 92-100) sentences are given with blanks to be filled in with appropriate word(s). Four 
alternatives are suggested for each question. Choose the correct alternative out of the four and indicate it by 
blackening the appropriate rectangle in the Answer-Sheet. 
 
91. The little girl was knocked down by a speeding car and she lost her __ immediately. 

(a) conscience (b) conscientious 
(c) conscious (d) consciousness 

 
92. They have had to put __ the football match because of snow. 

(a) of (b) off 
(c) up (d) on 

 
93. She found a few good cards in a shop and she bought ___ cards last night. 

(a) those (b) that 
(c) them (d) this 

 
94. Ten miles __ a long way to walk. 

(a) are (b) is 
(c) are being (d) are not 

 
95. The machine __ the vehicle since this morning. 

(a) repaired (b) repairing 
(c) has been repairing (d) will be repairing 

 



 

 

96. I complimented him __ his success in the examination. 
(a) at (b) on 
(c) about (d) for 

 
97. Security arrangements have been tightened up in all __ areas. 

(a) sensible (b) sensual 
(c) sensitive (d) sensational 

 
98. The dramatist must cater __ the taste of the audience. 

(a) to (b) over 
(c) into  (d) for 

 
99. Suitable steps are taken to bring __ the cost of living. 

(a) up (b) over 
(c) on (d) down 

 
100. If I had worked hard, I __ very high marks in the examination. 

(a) scored (b) would score 
(c) could score (d) would have scored 

Directions (Qs.101-105)  Which of the phrases (1) (2), (3) and (4) given below should replace the phrase 
given in bold in the following sentence to make the sentence grammatically meaningful and correct.  If the 
sentence is correct as it is and no correction is required, mark (5) as the answer. 
 
101. Had you been shown your driving licence, the humiliating event would not have taken place, 

 (a) If you had been shown (b) Had you showed 
 (c) Had you been showing (d) Had you shown 

(e) No correction required 
 
102. Don’t enter the garden unless the permission of the competent authority. 
 (a) with the permission (b) unless obtain permission 
 (c) unless the permit (d) without the permission 

(e) No correction required 
 
103. Admission to any college in that city is almost impossible, as the seats are reserved only for     

women. 

 (a) in any college of (b) of any college into 
 (c) for a college of (d) with any college in 

(e) No correction required 
 
104. The wounded soldiers didn’t give of a fight till they succeeded. 
 (a) had not given of a fight (b) didn’t give of a fighting 
 (c) had not been given of fight (d) didn’t give up a fight 
 (e) No correction required 
 
105. Why you are so elated is not known. 
 (a) was not know (b) is not knowing 
 (c) was not knowing (d) is not knowledgeable 
 (e) No correction required 
 
Psycological Test 
 
106. Write the number of the pair, the words of which do not have the same type of meaning as others. 

(a) Shade and Colour (b) Drink and Sip 
(c) Short and Tall (d) Happy and Contented 

 



 

 

107. Which of the following pair is odd one out? 
(a) Love, Affection (b) Abundance, Scarcity 
(c) False, True (d) Sharp, Blunt 

 
108. Complete the series: 

1, 3, 10, 21, 64, 129, ?, 777 
(a) 356 (b) 259 
(c) 388 (d) 144 

 
109. It takes 2 minutes to boil a single egg. How many minutes will it take to boil 5 eggs together? 

(a) 10 (b) 4 
(c) 2 (d) 5 

 
110.         If fifth of the month falls two days after Monday, what day of the week will precede the 19th of 

the month? 
(a) Friday (b) Wednesday 
(c) Saturday (d) Tuesday 

 
111. Select the correct word to fill in the blank: 

Gun is to Soldier as …… is to Blacksmith. 
(a) Nail (b) Blower 
(c) Hammer (d) Plane 

 
112. If Land is to Train as Sky is to…… 

(a) Pilot (b) Air 
(c) Aeroplane (d) Bird 

 
113. Fill in the missing number to complete the series: 

1 4 2 5 3 6 7 ……, …… 
(a) 6, 8 (b) 5, 8 
(c) 9, 7 (d) 6, 9 

 
114. If 2 × 3 = 812, 4 × 5 = 1620 then 6 × 7 = ? 

(a) 42 (b) 1214 
(c) 2428 (d) 2442 

 
115. If 5 boys write 5 pages in 5 minutes, in how many minutes can one boy write one page? 

(a) 1 minute (b) 1
5

minute 

(c) 5 minute (d) 2.5 minutes 
 
116. If Monday is to February, then Friday is to ……? 

(a) July (b) June 
(c) May (d) August 

 
117. If March is to August, then C is to …… 

(a) G (b) I 
(c) H (d) J 

 
118. An aeroplane files twice is fast than a train which covers 60 miles in 80 minutes. What distance 

will the aeroplane cover in 20 minutes? 
(a) 30 miles (b) 50 miles 
(c) 35 miles (d) 40 miles 

 



 

 

119. A lady is 5 years younger to her husband and he is 5 times as old as his daughter. If the daughter 
was 5 years old 3 years back, what is the present age of the lady? 
(a) 25 (b) 45 
(c) 35 (d) 30 

 
120. If LPPHGLDWH means IMMEDIATE what does WRSVHFUHW stand for? 

(ABCDEFGHIJKLMNOPQRSTUVWXYZ) 
(a) MARINATED (b) STRONGEST 
(c) TOPGRADED (d) TOPSECRET 

 
Answer Keys 
 
1. (b) 
2. (b) 
3. (d) 
4. (d) 
5. (c) 
6. (c) 
7. (d) 
8. (a) 
9. (b) 
10. (a) 
11. (c) 
12. (d) 
13. (a) 
14. (b) 
15. (d) 
16. (a) 
17. (a) 
18. (a) 
19. (e) 
20. (a) 

21. (c) 
22. (b) 
23. (a) 
24. (b) 
25. (a) 
26. (a) 
27. (a) 
28. (c) 
29. (b) 
30. (d) 
31. (c) 
32. (b) 
33. (e) 
34. (b) 
35. (e) 
36. (b) 
37. (a) 
38. (c) 
39. (c) 
40. (c) 

41. (c) 
42. (c) 
43. (b) 
44. (d) 
45. (c) 
46. (b) 
47. (d) 
48. (a) 
49. (b) 
50. (b) 
51. (c) 
52. (a) 
53. (b) 
54. (a) 
55. (b) 
56. (c) 
57. (a) 
58. (b) 
59. (b) 
60. (a) 

61. (d) 
62. (c) 
63. (a) 
64. (b) 
65. (c) 
66. (b) 
67. (c) 
68. (c) 
69. (a) 
70. (a) 
71. (a) 
72. (a) 
73. (a) 
74. (a) 
75. (a) 
76. (a) 
77. (a) 
78. (a) 
79. (c) 
80. (e) 

81. (d) 
82. (b) 
83. (d) 
84. (c) 
85. (a) 
86. (b) 
87. (a) 
88. (c) 
89. (a) 
90. (a) 
91. (d) 
92. (b) 
93. (a) 
94. (b) 
95. (c) 
96. (b) 
97. (c) 
98. (a) 
99. (d) 
100. (d) 

101. (d) 
102. (d) 
103. (e) 
104. (d) 
105. (e) 
106. (c) 
107. (a) 
108. (c) 
109. (c) 
110. (b) 
111. (c) 
112. (c) 
113. (b) 
114. (c) 
115. (a) 
116. (b) 
117. (c) 
118. (a) 
119. (c) 
120. (d) 

 
 



 

 

 
 
 
 
 
 


